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[001] [[0.00] |[0.7]
IVI{LEREZIAST-Y | 46,79 49.76 50.00 49.14 4884 4831 50.12| 3.33 = 3.30 =| 0.04
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TH 0h 0.052 003 0047 0058 0.065 0072  0.063
0<h<=8 0287 0289 0222 0200 0177 0176  0.139
8<h<10 0490 0476 0421 0416 0404 0380 0371
Lh>=100 0171 0199 0310 0326 0354 0372 0427
THERA L OR 058 0154 0184 0307 0411 0449 0467
0<h<=8 0369 0347 0313 0254 0193 0195  0.170
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86—01 | 86—06
1000 LA L3R &
By 51.66 50.65 50.77 50.86 51.67 -0.80 0.00
[0.36] [1.00]
FRH1IAYEY 8.91 8.96 8.97 9.02 9.20 0.11 0.29 +
[0.54] [0.10]
TRE1E %Y 5.24 4.06 3.64 3.33 3.48 21,91 ** -1.76 **
[0.00] [0.00]
30-999 A & ISCCTTTTU RSO
Bty 53.25 51.94 52.16 51.36 53.32 | -1.89 **.:° 0.08 “:
1001 e, [0.90].e0
FRH1AHEY 8.79 8.76 8.94 8.86 9.21 0.07 0.42 **
[0.57] [0.00]
TRE1IE LY 6.98 5.87 5.23 4.85 4.98 -2.13 ** -2.00 **
[0.00] [0.00]
30 A 3k ity FR 45 JIUTLIR LT
By 54.44 53.10 52.46 51.82 54.10 | & -2.62 = _~‘ -0.34
[0.00] , ~,, [0.62]
EH1IEHEY 8.71 8.62 8.68 8.67 9.06 “yog” oAl e
[0.70] [0.00]
TRE1EYEY 7.89 7.28 6.83 6.40 6.59 -1.49 ** -1.31 **
[0.00] [0.00]
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1976 1981 1986 1991 1096 2001 2006 | 76—86  86—06

B EHE7EY 56.58 5571 54.09 5337 5334 5284 5244|| -2.48 =  -1.66 *
[0.00] [0.00]

FH 7.92 7.82 7.57 7.43 7.40 7.31 7.22]| -0.35 =  -0.35 =

[0.00] [0.00]

+HE A 7.97 7.95 7.66 7.71 7.81 7.82 7811 -031 = 015 *

[0.00] [0.00]

HIEH 8.96 8.66 8.57 8.53 8.54 8.48 851 -040 = -0.06

[0.00] [0.22]

TP YT 53.61 5279 51.79 5117 5135 51.02 50.75]| -181 =  -1.05 **
[0.00] [0.01]

FH 7.50 7.43 7.25 7.13 7.12 7.06 7.04|| 025 = 022 **

[0.00] [0.00]

+IE A 7.62 7.52 7.34 7.40 7.57 7.60 755 -027 = 021 *

[0.00] [0.02]

HWEH 8.44 8.13 8.18 8.11 8.18 8.15 8.05|] -0.27 = -0.13

[0.00] [0.15]
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1981 1986 1991 1996 2001 2006
@R (B | 5217 5344 5217 5L 75156 5332
g 4654  44.65 43.97
p@EE (Bt | 5862 5085 5865 5769 5765 5957
(BEBEAT) | 5155 4939  49.10
WERRE  (BfE | 5573 5423 5349 5340 5291 5245
g 5271 5164  50.99
( ﬂé E) 1975 1985 1993 2003
S (B0 B ] B4 41.77 41.19 44.01 .
g g 34.52 32.02 36.34 [ 36.18
5 & el Bt 45.99 45.93 48.32
(BHEEED) | ZHE 37.67 35.67 39.93
Fee R, B ] B 55.27 53.92 55.68
g g 56.77 54.61 56.92 1
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